DARING. . ™ & & & '®

IeLirad gl INSTALLATION

PRODUCTS

CKURYAKYN GRIP END WEIGHTS 6238

FITS: ALL KURYAKYN ISO-GRIPS-FLAME GRIPS, & TRANSFORMER GRIPS CUSTOMER SERVICE
(FOR USE WITH ISO GRIPS FOR GL1800 WITH HEATED GRIPS (KURYAKYN P/N 6183) REQUIRES
SMOOTH ACCENT RINGS (P/N 6264-6266) FOR PROPER INSTALLATION-SOLD SEPARATELY)

PARTS INCLUDED
Bar End Weights
Hardware Kit for Stiletto End LIMITED WARRANTY
4-40 x 9/16 Socket Head Cap Screw
4-40 x 3/4 Socket Head Cap Screw
Installation Instructions

INSTALLATION QUESTIONS

= 00 00 =N

Please read and understand entire instructions before starting installation.
THANK YOU FOR CHOOSING KURYAKYN!

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY
AND/OR PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION
TO ALL INSTRUCTIONS, WARNINGS, CAUTIONS AND ATTENTION NOTES
REGARDING THE USE AND CARE OF THIS PRODUCT.

WARNING! THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING THE
CONTENTS DESCRIBED HEREIN CAN RESULT IN POTENTIAL DEATH OR
SERIOUS INJURY.

CAUTION!  This indication alerts you to the fact that ignoring the contents described herein
can result in potential injury or material damage.

ATTENTION! This indication alerts you to the fact that ignoring the contents described herein
may negatively affect product performance and functionality.

TOOLS SUGGESTED

Set of hex wrenches

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE

PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS. ABOUT OUR CATALOG

PROCEDURE

STEP 1 Read and understand all steps in the instructions before starting the installation. Park
the motorcycle on a hard, level surface; turn off the ignition and allow the engine to cool.

STEP 2 Remove the four-socket head cap screws on the end cap from your all ready-
installed Kuryakyn grip. Keep the trim ring because you will reuse it.

STEP 3 Place the trim ring on the new bar end weight and place it on to the grip. Secure it
with four 4-40 x 9/16 Socket Head Cap Screw.

STEP 4 Repeat steps 2 and 3 for opposite side installation.

NOTE The other (8) 4-40 x 3/4 Socket Head Cap Screws are meant to be used
when you are installing the new bar end weights with the Kuryakyn
throttle bosses.

6238-11-0309 R i d Q O n -r




